


Year 5 Unit 3 — Multiplication and Division A.

Product The result when two numbers are multiplied. 6 3
X =
Factor Numbers we can multiply together to get anoth- \
er number. Factor Factor
Multiple The result of multiplying a number by a posi- |6, 12,18, 20, 24 ..... are all multiples of 6
tive whole number
Square To square a number: just multiply it by itself. 56 2
Number 4 squared is 4 x 4 = 16. Often shown with a lit- 4 (1 2or2x2=4
tle 2 in the corner like this: 4% = 16
that is said "4 squared equals 16" 3°or3x3=9
Cube Number | The result of using a whole number ina  multi-
plication three times. 5 x5 x5 =125
5 = 125
Prime A whole number QF‘ZGTZI" than 1 that can not be prime number
made by multiplying other whole numbers. They
Numbers only have 2 factors: one and themselves _ // \\
1 23 4567 8 9 10
Multiplying by 10 Prime. numbers ( 2 |
Th | H T [ *  lleger
*  Only has 2 factors
7 8 Y
T . r [ o | * ond itsef The. first prime, rumber
The only even prime. number
7 8 0 78 X 10 = 780
™ [ o | Leam or how-to quick reca..
7 8 0 0 78 X 100 = 7,800 r
|{ 2,357,113, 17,1923, 2...
Dividing by 10
mh [ ™ [ v | T [
7 0 0 0
m [ m |« [ 7 [N
4 7 0 0 47,000 = 10 = 4,700
m [ m [ n | 7 [l
4 7 0 47,000 + 100 = 470
m | [ | 7 [
4 7 | 47,000 = 1,000 = 47




Year 5 Unit 4—Fractions

They are called improper fractions.

Equivalence Having the same value Improper A fraction greater than one whole
....... Ly By Fraction
I 2 &
2 4 16
+2  2+4 8+16 8
=05 =05 =05 5
Proper A fraction smaller than one Mixed Written as a whole number and a
Fraction whole % Number proper fraction . G
2 3
3 10 1% %
I+ 12
0 I 3 3 2
I I I I I I I
I I I
0 1 2 3 4 S s
3 3 3 3 3 3
improper fractions
3 4 5 6
3. 3+ 3 and 3 are equal to or greater than |.

Equivalent Fractions




\

Year 6 Unit 4
Fractions B

Multiplying by an integer=repeated addition

A
4 x5

How many porls are shaded?

f
Irteger

(Whok. rumber)

Eachpad |
represenis 5~

What each part. represeris

Dividing a fraction by an integer

Thereis — ofa pizza left and we need to share it
equally between 3 people.

As a fraction, how much pizza will each person
receive?

10, \ =

Multiplying non-unit fractions

PR

[

parts n the diagram

Shade 1 3 FEPE[H[ t -
%, " |
narte ‘/ on ths
LA LS
MY rows We started with 45 cmd then shared out the 4 to 3 people.

9 + 3 = 3 so each person gets ﬁ

Ths many cobems This many rows Does % + 3 really equal % ?
<+ : o -
5—)('2_ = i Parls shaded A Half: Divided by 3
473
‘\\ Answer:
AL AHH N 1
Total number of 9-'“: ¥ 6

Finding a fraction of a given amount

The bar represents The whole amount

_ 2 .
Frd < of £205 /
£205

I L 1

[ £4] | £4] | £41 | £4 1 | £41 |

\ Y J

A out of the 5 equal parts
) - £4
A X £4]=£82

cach part of the bar model represents £41




Year 6 Unit 5 —Ratio (%)

What is a ratio?  For every 5 Blues there are 3 pinks

This is the ‘whole’ - blues and pinks together This represents the 5 blues

| f ‘ ' This is the

[ ] ‘whole’ -
55 blues and
\ m J U pinks together
¥ Y
This represents the 5 blues  This represents the 3 pinks This represents the 3 pinks
Simplifying a ratio Order is important
Cancel down the ratio to its lowest form "For every dog there are 2 cals”

l k. 4 Dogs: Cats b L)

"For every © days of rain there are 4 daus of sun” 12

6 4_ |_| |_| | | | | U Find the biagest common
\

l A+ g N . L ]
| factor that goes o al Tre ratio hos ’[r:: be, w;’l’[’[m n the
| oarts of the. ratio same order ¢g the information &
bg 1 r i SUnN glen

Dj mulliples nto them s 2)

For every 3 daws of ran There are 2 daus of sun” — when the happens Twice the ralio becomes G4

For & and 4 the buagest _
5 2 Djj ED] factor (number that @whrstorrmths

Dividing into a given ratio Ratio and fractions
Trees
James ond Lucy share. £350 in the ratio 34 Trees: Flowers — ————
(N r g
Work out how much each person eams ;p) ) 7 - =
Model the Question James ' I-III.IIII
James: Lue Flowers
) [ g ¥ bt
5 . 4 Djj } £350 There are 3 parls for rees Fraction of trees
Lucy MNumber of parts of in galp/—\ 3 %
' Total rumber of parts 0
Find the value of one part £350~ 7 = £50
;MEE"E-’BZWF ootveer D ore. part Tree parls 3 * Fower ports 7 = 10
(3 James, 4 Lucy) - £30
Put back into the question -
James = 3 x £50
James: Lu:u A

=4} 4

50 -} o

lU{.Lj 4 x £50 = £20(

(‘E 150:£200




Year 7 -Unit b

Fraction, Decimal and Percentage Equivalence

N

Equivalence Having the same value T
1l 2 8
-2 4 6
1+2 2+4 8+l6
=05 =05 =05
Percentage Percent come from the Parts per 100
Latin term ‘per centum' 2
meaning per hundred. The symbol is %
Example: 25% means 25 per 100
sl (25% of this box is green)
Proper Fraction A fraction smaller than
one whole %
2 3
3 10

Improper Fraction

A fraction greater than
one whole

v

Mixed Number

A number written as a
whole humber and a
proper fraction




Year 7 Unit 6
Applying Addition and Subtraction

\
Addition The joining of fwo or more numbers or In addition two or more numbers are joined
" to get one number which is the sum or the
quantities.
total .
Sum Totdl The result of adding; the whole amount

Subtraction When one quantity is taken away from

another

Difference The result of subtracting one number

from another

80 subtract 30 is 50.
The difference between 80 and 30 is 50

Commutative Numbers can be added in any order, but in

subtraction the order is important.

|a+b=b+a|

than it cost to purchase.

6+2=8
(4}
2+6=8
Associative In addition, no matter how numbers are o2 e ,00 _
: 0g0®® o =
grouped, the answers will be same.
(6 +3)+4
Inverse The reverse or opposite of an operation.
eoe 4+2=6 || e9% 6-4=2
2+4=6 J l 6-2=4
Perimeter The distance around a polygon. L
Perimeter = 2L + 2W
w P
Sameas: L+L+W+W
Profit Profit occurs when an item is sold for (Sakery)
more than it cost to purchase. g ‘ I I i k
Loss Loss occurs when an item is sold for less i ! 3 Expenses
Profit

Addition and Subtraction

Oddtion & commutative

«  Number Ines : -
»  Part/ Whok dagrams The order of addtion does not

change. the resut

Subtraction the order has to stay the same

- O 360 -147 =360 - 100 — 40 — 7 H T O HIT|O
20 | N Vaa®
0 w0 e o0 ® @ C X ] 1,87 412(7
\_/ o/
.... + .. .. + .... *  Number res help for addition and b5 42 -lz]4a]9
Modeling methods for addition/ subtraction subtraction
s Bar modek 6 + 3 -3 +« b « Working In 10's first aids mental

addfion/ subtraction
= Show your relationships by writing

@whisto_maths

Formal written methods

Remember the. place. value. of each cobmn
You may reed to move. 10 ores to the ores

S R tr ol +
foct Samiles cobmn to be able to subtract

Addition and Subtraction of decimals

0 can be used )

placeholder and aligrs the other valies

4 .38 I\
1o fill emply /
7 .9 0+ - fiem |
—— —  places with vabe [
f \
The decimal place acts as the X em

Perimeter problems

Perimeler is the lenath around the. outside of a polyson

The triange has a permeter of Aocm
Find the length of x

&m + &m + xem = A%em
[Gem + xcm = 25em
xem = %em

kosceks
Triange
notalion




Year 8 Unit 7—Ratio and Scale

What is a ratio?

"For every 5 bous there are 3 girks”
Ths is the ‘whole” — bous and girk Together
A
[ |
L ’ J 1 Y J

This represents the D boys  This represerts the 3 grks

This represents the 5 boys

Ths & the
“whok." —

h3

boys and girs

1—'—.'

together

This represents the. 3 gk

Simplifying a ratio Writing a ratio in
Cancel down the ratio to its bwest form form L:n
“For every © daus of rain there are 4 daus of sun’ l 4-20
6 4_ |_| |_| | | | | U Find the biagest common
) 1 , | factor l.ﬂm‘\ g:m nto dl | - 5
parls of e ralio Tre
ran 50N "
b'J.l question e
For 6 and 4 the biggest states that mf o
Djj I:Dj factor (number that this part dvided by
5 Z Dj mutiples rto them s 2) ﬁ;o be 4t00—to
Trerefore. kﬂz;(:tm
For eveny 3 das of ran There are 2 daus of sun” — when Thes bappens Twice The. ratio becomes 64 Dwide by 4 Pr
Dividing into a given ratio Ratio and fractions
T g Trees
James and Lucy share £350 in the ralio 34 rees: Flowers ——
Work cut how much each person earns ;p) ) 7 - g
Model the Question Jomes ' I-III.IIII
i l—l—l .
Jomes: Lucy Flowers
5 4 - £350 There are 3 parls for trees Fraction of trees
: =y
MNumber of parts of in aroup /—\ 3 %
Luag - S
Total rumber of parts 0
Find the. value of one part £350~ 7 = £50
'f"rhgﬁ £350 D ore. part Tree parls 3 * Fower ports 7 = 10
7 parts to share between - £5
(3 James, 4 Lucy) 0
Order is important -
P back nto the question raer 1s important @whisto_maths
o e o For every dog there are 2 cats -
Jamus =3x£D0=£B0
James: le W Doss Cats h hl

@ i|r £37()

150:£200

oo

:Au ;'

luc,q dxf

[

The ratio has to be writfen in the
same order ¢s the information i

aven




Year 8 Unit 8 Multiplicative Change

Proportion A statement that links two ratios

Variable A part where the value can be changed

Scale Factor

The multiple that increases or decreases a shape in size

Conversion

The process of changing one variable to another

Conversion Graphs

mies

Labeling of both axes USIng your araph

5 vital

sobtions

This is alwaus a straight. ine. because as one. variabe
increases so does the other al the same rale

To make conversions between units you need to find the
point. 1o compare — then Tind the associated point by

Using a ruler helps Tor accuracy
Showing uour conversion ines help as a “check” Tor

Direct Proportion

As one variable changes the other changes at the same rate

4 cars of pop = £240
4 cans of pop = £140

|2 cars of pop = £720

4 cars of pop = £240 ¢
0 g . P >
L) [
= dears of pop = £120 ¢

This mullipier & the same
In the. same. way that this
would be. for ratio

Sometimes this & easiest
if you work out how much
ore. unt is worth first

eq | can of pop = £060

Ratio in similar shapes

Nges N Smigr Snapes a0 nol Changg
eg if a lnande gels bigger the angkes can
nol go above 18

The two rectangles are similar,

am

Corresponding sides i

2 R b’ M.
“ 3m o 4Pm D . - C fm - 1 Am bx
+ - &Y b . o
Im: Hmée ™~ Im: 5 m

@whisto_maths

Interpreting Scale Drawings

10em

(O picture of a car s drawn with a scale of 130

For every em on my image. &
30cm in real ite

is & [0cm

The car image is

mage. - Regl ife

= (" km: 30em y<
< \pl0em - 300cm4/ =

The car in real ife

mace. - Real ffe

e tm 5{Er'q :“:
=Ny Tem - 210 cm




